


Question Answer Marks | AOs Guidance
WO [ herZ 0o M| 2
x=0,2,2 Al | 11
"™ 5
(0,0) and (2.0) Al 1.1
(0.8, —-1.10592) or (0.8, - %) Al 2.2a | accept— 1.10592 to 2 sf or better
14]
14 | (c) 2™ derivative = — 16 at (0,0) so max B1 11 | orforany oftlle three points: considers
y or j—z or 372 either side of correct
B1 1.1 stationary point accompanied by suitable
2™ derivative = 5.76 at (0.8, — 1.10592) so min commentary: must see numerical values
2 Bl 3.1
eg gradient = 1 at x = 1 and 33 at x = 3 so inflection ?
atx=2
egy=-latx=1and y=9atx =3 so inflection at
x=2
NB 2 derivative test is indecisive at x =2
13]
14 | (d)
M1 1.1 shape of curve correct with max, min and
inflection
o i1 i i Al 1.1 correct intercepts marked on sketch or
' 1 ‘ identified next to graph
2]




